1 D nER

[nb‘%?j\i@c‘:@“%o HRER 701 BEEEL &S, ]

21 oeE 2= &oT|z=1 &55. 2] >0 BT |Z2|=1 £53.

1Z]| =1 #EHES 1 EHEBMZEBERTRT E Z=cosO+isin8 (0=<6<2m) Lh5,

K7 7IVOEE

Z6=1 K (cos@+isin9)6=1 meellly. - C0S6 O +i 5iN6 0 =1 LEBADT

cos68=1 sin60=0 L7555, CTTO60DFTHERZZZHE (0=0<27) &Y (0=60<1277)

i Si KV cos66 =1 < 0 [ ) FRE
cos6 B +isin6 6 =1 oo (0=60<12mM) &Y | 755 0+isin 0 71
v / crston o CIFECES I 1 V3.
6920,277,477,677,8”,107712>< Z—COS?HHSIH?TT Z:? +?|
: 5 4 c Z=cos% T +i sin%ﬂ :-12 +€i
=0 — 77— —7 .= =
6 =0 Mgy o g Mo gy M £ % Z=COSTT+i sin7m 27T Z=-1
- =~ «/_
Inoz Z=cos% TT +i sin%n :—12 - 3i
Z=cosO@+isin0 [TLA Z:cos%n+i Sm%n 7 12 _f;i

\- J




